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Find the difference between the profit share of..

P. Ramesh Naidu

less than the required amount to
purchase it at Universal Shoppe

11.

The amount invested by Hem-
anth in a business i1s 3.5 times of

25%. If he increases his discount
from 25% to 35%, his profit

Subject Expert Bhootnath? IBPS the amount invested by Bhargav would decrease by Rs.1,225 then
1) Rs.70 2) Rs.50 in the same business and the ratio find the marked price for the
3) Rs.100 Clerks Prelims of time period of which the shopkeeper.
4) Data insufficient investment 1s made by Bhargav 1) Rs.10500  2) Rs.11000
MODEL QUESTIONS 5) None of these Numerical ability and Hemanth is 3 : 1. If the total ~ 3) Rs.11500  4) Rs.14000
Directions (Q.No.1 - 5) : Ineach 7. A rectangle plot 55m long and Special investment of Bhargav and 5) Rs.12500
of the questions a pair of equations 45m broad, has two concrete “Also useful for Hemanth together is Rs.54,000 14. Two taps A and B together can
is given. You have to find out the crossroads (of equal width) Otfrer Commretiin Buams / and the profit share of Bhargav is fill a tank in 20 minutes. Tap B
values of x and y and give answer : running in the middle of it. One Rs.2400 less than his investment. 1s 50% less efficient than tap A.
Difx<y 2)ifx<y parallel to the length and the Then, find the difference bet- If tap A and tap B together starts
Nifx=y Hif x>y other parallel to the breadth. The ween the profit share of Bhargav to fill the tank, then after how
S)ifx=y rest of the plot is used as a lawn. 3 years. One at the rate of 30% and Hemanth ? much time tap B should be
1. L.2x2—=7x+6=0 If the area of the lawn is 1911 m?, S.I. and second at the rate of 30% 1) Rs.1400 2) Rs.1600 closed, to that tap A filled the
II. 4y> =9 what is the width of each of the C.I. annually. By how much 3) Rs.1800 4) Rs.2000 remaining tank in 24 minutes ?
2. L4x2-4x-3=0 crossroads? percent the C.I. is greater than 5) Rs.2400 1) 12 minutes 2) 8 minutes
II. 4y + 12y + 5=0 1) Sm 2) 5.5m 3) 6m the simple interest received in 12. The ratio between the present age 3) 6 minutes  4) 4 minutes
3. L.4x*=49 4) 4m 5) 4.5m this 3 years duration? of father and his daughteris 5 : 2. 5) 2 minutes
II. 9y? — 66y + 121 =0 8. There is a mixture of alcohol and 1) 33% 2) 35% Four years hence the ratio 15. The speed of Gowthami express
4. L. x>+9x+14=0 water containing 60% alcohol. 3) 37% 4) 30% between the age of the daughter and Tirumala express is 108
ILy?+y—-2=0 Hemanth wants to dilute the 5) 43% and her mother will be 2 : 5. km/hr and 144 km/hr respect-
5. LOox>—18x+5=0 mixture to 50% by adding some 10. Vessel 'A' contains milk and What is the ratio between the ively. Gowthami express crossed
IL. 2y -9y +10=0 quantity of water to it. But water in the ratio 5 : 2 and Vessel present age of the father and the stationary Cocanada express in
6. A scientific calculator is avai- instead of adding pure water he 'B' contains milk and water in the mother ? 52/3 sec. If the ratio of length of
lable at Universal Shoppe in added pure alcohol to the ratio 8 : 5. 31.5 liters is taken out 1)3:4 2)4:3 Gowthami express, Cocanada
Hazratganz at 20% discount and mixture, now to get the mixture from Vessel A and mixed in 3)5:4 4)4:5 express and Tirumala express is
the same is available at only 15% to 50% diluted, how much water vessel B. If ratio of milk and 5) Can't be determined 6 : 7 : 8 Then in what time,
discount at Universal Shoppe as a fraction of the mixture must water in vessel B becomes 125 : 13. A man purchased a TV from a Tirumala express will cross
Bhootnath Market. Ms.Bhargav be added? 68, then find the initial quantity shopkeeper after getting two Gowthami express if both are
has just sufficient amount of Rs. 1) Y2 2) Va 3) 1/3 of water in vessel B ? successive discounts of 30% and running in the same direction ?
800 to purchase it at Universal 4) 1/5 5) None of these 1) 50 liters 2) 35 liters 20%. Man marks up the price of 1) 48 sec 2) 56 sec
Shoppe Hazratganz. What is the 9. Equal amounts of each Rs. 3) 25 liters 4) 40 liters TV by 75% and sold it to his 3) 42 sec 4) 40 sec
amount that Ms. Bhargav has 43,892 is lend to two persons for 5) 10 liters friend after giving a discount of 5) 36 sec
KEY WITH SOLUTIONS Required difference water to be added is a to get the 11) 2; 56517 _og
=850 — 800 = 50 required concentration, then Let amount invested by Bhargav 100
1) 5; 7) 3; Given length = 55 m; Breadth 4k _ _ L. = Rs.x profit difference =
[ o o [EN49—-48 T2l 23 =45 m . 6k +a LIS @S it Amount invested by Hemanth = 08x 10 _ 1295
4 4 2 . 1/3rd of the volume of the Rs.3.5x 100
= = iz;Therefore By 45lm «m mixture. = 4.5x = 54000 I unit = Rs.125
2 9 1; Bhargav investment Then, Mp for shopkeeper
2) 5; xm gy = 43.892x30x3 _ 43892[2] L 1000 12000 = Rs.125 x 100 = Rs.12,500
T e 4+/16+48 448 Area of lawn = 1911m? = Area 100 10 4.5 14) 4; Let, tap A can fill the tank in
8 8 of rectangle plot 45 x 55 CI = 43892 |:(1 .30 )3 = 1] Hemanth investment = (54000 — X minutes.
_(oL 3 = 2475 m? = Area of crossroads 100 12000 ) = 42000 Tap B can fill the tank in 2x
22 = 2475 — 1911 = 564 m? _ 43892(2197_1000 )= 43892(L97) Profit share ratio Bhargav minutes
Lo ye ~12+,[144 80 Let the width of each crossroad HEL 10T Hemanth = (12000 x3) : (42000 L L~ 30 minutes
8 = xm :43892(L97) X1)=6:7 x 2x
1248 5 3 = 45 x + 55x — x*> = 564 ; 1000 Bhargav profit = (12000 — 2400) Let tap B closed after 'a' minutes
. 8 2’ 2 = xi - 100x+564 = 0; o (S B ( 297 ); = 9600; Hemanth profit GH2U G e
erefore x >y = x* — 94x + 6x + 564 =0 1000 _ 9600 166x7=11200: 30 60
3) 1; = x(x — 94) -6 (x — 94) = 0; 43892( 297 ) 15) 2; Let the length of Gowthami
= et! Lo BGy-11)%=0 = (x—6) (x—94)=0; Desired % — 1000 )_ 334, Required difference express = 6x meters
2 x=6,94 43892( 900 ) = 11200 — 9600 = Rs.1600 Length of Cocanada express
. 1 rherefore, x < y = Therefore 94 is discarded; 1000 12) 5; Let the present ages of father = 7x meters
3 therefore x = 6m, Therefore , 10)3; be 5x and that of his daughter be Tirumala express = 8x meters
4) 2; Width of each of the crossroads From vessel A 2x and, also her mother's age be y. 108 x> = 6x+ 703 13 x = 520
Lx+7) (x+2)=0;x=-2, -7, = 6m Total Quantity taken — 31.5 _ 2x+4 2 18 52 7 ’
I y+2)(y—1)=0y=-2,1; 8 3; = Milk taken out; y+4 5 x = 40 meter
Therefore , x <y Suppose initial quantity of the 315 %5=225: 10x + 20 =2y + 8; Length of Gowthami express
5) 1; mixture is x and quantity of 7 10 x — 2y =-12. =6 x 40 = 240 meters
e e 18%,/324-180 Water required tp get the mixture B O 315 “2=0 We can't get the .Value of y from Length of Tirumala express
18 diluted to 50% is y, then 7 the above equation so, can't be = 8 x 40 = 320 meters
_18%12 15 0.60x _gs_, . _5 y Let milk and water in vessel B determine. Relative speed
18 3°3 Xty initially be 8x and 5x 13)5; = 144 — 108 = 36 km/hr;
Lo y= 9£81-80 9+l _ ) 3 : Taking y =k and x = Sy, thl.lS the respectively. Let the marked Price for 36 S _ 10m/ s
4 4 2 quantity of the mixture is 6k After mixine SXT 225 125 shopkeeper be 100 unit. 18
g 5 : :
Therefore, x <y now. 5x+9 68 CP of man Required time to cross each
6) 2; In this mixture quantity of 544x + 1530 = 625x + 1125 ; =100 - 44 =56 (30% + 20% — other

80% = 800; 100% = 1000; When
discount 15% ; SP = 850;

epaper.sakshi.com

alcohol 1s 4k and water is 2k
Now suppose quantity of the

82x =405; x=15;
water=5x 5=25

44% discount) single discount
MP form Man

=E) =56 sec.
10



